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WEST BENGAL STATE UNIVERSITY 

B.Sc. General Part-II Examination, 2020  

PHYSICS 
PAPER: PHSG-II 

Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 is compulsory. Answer any two other questions from the rest 

১নং pű বাধ°তামূলক। অন° pűgিলর মেধ° �থেক �য-�কােনা dিট  pেűর উtর করেত হেব 

1. Answer any ten questions from the following:

িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 
3×10 = 30

(a) Using Fermat’s principle, establish the laws of reflection from a plane surface. 
ফাম�া-র নীিত pেয়াগ কের সমতল েথেক pিতফলেনর সূtgিল pিতŸা কেরা। 

(b) Write down the condition of achromatism of a combination of two lenses of the 
same material separated by a distance d. What is an achromatic doublet? 
d দূরেt অবিsত অিভn উপাদােনর dিট েলেnর সমবােয়র অবণ�তার শত�িট েলেখা। অবণ�ক যুg 
বলেত কী েবােঝা ? 

(c) If the angle of diffraction in the third order of the spectrum is 30º for a plane 
diffraction grating with 3000 lines per cm, find the wavelength of the light used. 
pিত েসিম-েত 3000 েরখাযুk একিট সমতল েgিটং-এ tতীয় kেমর অপবত�ন বণ�ািলর েকাণ 30º 
হেল ব°বhত আেলার তরñৈদঘ�° কত ? 

 

(d) Explain why the central spot of the fringe pattern in the Newton’s ring 
experiment is dark? 
িনউটন বলেয়র পরীkায় ঝালেরর েকndিবnুিট অnকার হয় েকন ? 

(e) State Brewster’s law. Calculate the polarizing angle for light travelling from 
water (refractive index 1.33) to glass of refractive index 1.53. 
brsার-এর সূtিট িববৃত কেরা। জল (pিতসরাì 1.33) েথেক 1.53 pিতসরাì িবিশŶ কােচ আেলা 
পড়েল সমবত�ন েকাণ কত হেব িনণ�য় কেরা। 

(f) Find the r.m.s. voltage of an ac source of voltage with peak value E0. 
একিট পিরবত�ী উৎেসর েভােlজ-এর শীষ�মান E0 হেল তার আরএমএস েভােlজ িনণ�য় কেরা। 

(g) Give the truth table of a three input AND gate. 
িতন ইনপুট িবিশŶ একিট AND েগট-এর ¹ুথ েটিবল েলেখা। 

(h) Convert decimal number (18.25)10 to binary equivalent. 
দশিমক সংখ°া (18.25)10-েক সমtল° বাইনািরেত pকাশ কেরা। 



B.Sc./Part-II/Gen./PHSG-II/2020 

2110 2

(i) Define Q factor of an LCR ac circuit and state its significance. 
LCR ac বত�নীর Q সংখ°ার সংjা দাও এবং এর তাৎপয� িববৃত কেরা। 

(j) What is meant by magnetic hysteresis? How one can measure the loss of energy 
in hysteresis? 
েচৗmক িহেsেরিসস বলেত কী েবাঝায় ? িহেsেরিসস-এ শিkkয় কীভােব মাপা যায় ? 

(k) Define the coefficient of mutual inductance between two conducting coils. What 
is its unit? 
dিট পিরবাহী kčলীর মেধ° পারsিরক আেবশ gণােìর সংjা দাও। এর একক কী ? 

(l) A 2000 Ω resistance and a 40 μF capacitor are connected in series with a dc 
source of 200 V. Estimate the approximate time in which the capacitor will 
acquire 63% of the maximum possible charge.   
একিট 2000 Ω েরাধ ও একিট 40 μF  ধারক একিট 200 V-এর সমpবাহী উৎেসর সেñ েËিণ 
সমবােয় যুk আেছ। ধারকিট সmাব° সেব�াc আধােনর 63% সĀয় করেত (pায়) কতখািন সময় 
েনেব িনণ�য় কেরা। 

(m) What do you mean by binding energy of a nucleus? Sketch a graph showing the 
variation of binding energy per nucleon with mass number. 
পরমাণু েকndেকর বnন শিk বলেত কী েবােঝা ? ভরসংখ°ার সেñ িনউিkয়ন-িপছু বnন শিkর 
পিরবত�েনর একিট েলখিচt আঁেকা। 

(n) Write down the postulates of Einstein’s special theory of relativity. 
আইনsাইন-এর িবেশষ আেপিkকতা তেttর sীকায�gিল েলেখা। 

(o) State Moseley’s law. Define all symbols if you introduce any. 
েমাজেল-র সূtিট িববৃত কেরা। tিম েকােনা িচh ব°বহার করেল েসgিল সংjািয়ত কেরা। 

  
2.  (a) Find the equivalent focal length of two thin lenses of focal lengths f1 and f2 placed 

in contact with each other. 
f1 ও f2 েফাকাস-�দেঘ�°র dিট পাতলা েলnেক পরsেরর সংsেশ� রাখেল তার tল° েফাকাস-�দঘ�° 
িনণ�য় কেরা। 

4

(b) Prove that the minimum distance between an object and its real image formed by 
a convex lens is four times the focal length of the lens. 
pমাণ কেরা েয, েকােনা বstর সেñ উtল েলn dারা গিঠত সদিবেmর সব�িনm দূরt হল ওই েলেnর 
েফাকাস-�দেঘ�°র চারgণ। 

4

(c) Define angular dispersion and dispersive power of a prism.  
িpজেমর েকৗিণক িবc ুরণ ও িবc ুরণ kমতার সংjা দাও। 

2

  
3.  (a) Derive an expression for the intensity distribution in the interference pattern 

produced in Young’s double slit experiment.  
ইয়ং-এর dই েরখািছেdর পরীkায় উৎপn ব°িতচার নকশার তীbতার রািশমালা িনণ�য় কেরা। 

4

(b) What is a Zone plate? How does it behave like a converging lens? 
মčল ফলক (Zone plate) কী ? এিট কীভােব অিভসারী েলেnর মেতা আচরণ কের ? 

2+2

(c) Define specific rotation in case of a solution.  
েকােনা dবেণর েkেt আেপিkক আবত�েনর সংjা দাও। 

2
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4.  (a) State Biot-Savart’s law. Find the magnetic field at the centre of a conducting 

circular loop of radius r through which a current I is flowing. 
বােয়া-সাভাত� (Biot-Savart)-এর সূtিট িববৃত কেরা। I pবাহযুk, r ব°াসােধ�র একিট বৃtাকার 
পিরবাহী লুেপর েকেnd েচৗmক েkt িনণ�য় কেরা। 

2+2

(b) A series LCR circuit consists of R = 100 Ω, C = 40 μF and L = 40 mH. Find the 
resonant frequency of the circuit. 
একিট েËিণ সমবায় LCR বত�নীেত R = 100 Ω, C = 40 μF ও L = 40 mH। বত�নীর অনুনাদ 
কmাì িনণ�য় কেরা। 

3

(c) State Curie’s law for a paramagnet. Draw a graph to show the variation of the 
paramagnetic susceptibility with temperature. 
পরােচৗmক পদােথ�র জন° kির-র সূtিট িববৃত কেরা। উŹতার সেñ পরােচৗmক েচৗmকgািহতার 
পিরবত�ন একিট েলখিচt এঁেক েদখাও। 

2+1

  
5.  (a) Construct a two input OR gate using p-n junction diodes and explain its 

operation. 
p-n সংেযাগ ডােয়াড-এর সাহােয° একিট dই ইনপুট িবিশŶ OR েগট িনম�াণ কেরা এবং এর 
কায�পdিত ব°াখ°া কেরা। 

2+2

(b) State De Morgan’s theorems. 
িড মরগান-এর উপপাদ°gিল িববৃত কেরা। 

2

(c) Draw a circuit diagram with a Zener diode as a voltage regulator and explain how 
it works. 
েভােlজ িনয়ntক িহসােব েজনার ডােয়াড সহ একিট বত�নী আঁেকা এবং এর কায�পdিত ব°াখ°া কেরা। 

4

  
6.  (a) What is stopping potential in photoelectric effect? Establish a relation between 

stopping potential and work function. 
আেলাকতিড়ৎ িkয়ায় িনেরাধী িবভব কী ? িনেরাধী িবভব ও কায� অেপkেকর সmক� pিতপাদন 
কেরা। 

1+3

(b) Deduce the formula for velocity addition based on Lorentz transformation 
equations of the special theory of relativity. Hence show that velocity of light in 
vacuum is same for all reference frames. 
িবেশষ আেপিkকতা তেttর েলােরĂ rপাnর সমীকরণ েথেক েবগ সংেযাজেনর সূtিট িনণ�য় কেরা। 
এখান েথেক েদখাও েয, আেলার েবগ সমs িনেদ�শতেntই অিভn। 

3+1

(c) Give the probabilistic interpretation of the quantum wave function.  
েকায়াnাম তরñ অেপkেকর সmাব°তা সংkাn ব°াখ°া দাও।  

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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